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¢ 250mm{R R ERE N E R (BE#H) ¢ 250mm{R SR ER E S E R (F
Nl A G & HBAUuRE ¥ & | B E Bl A Bl G E H oL % B
ik )—~ (SUSE) HAL [ 250A X 4. 00m 2T L A 250A
B # N = 6 4. 000 6 24. 00 AT L= (EmRiEE) m 49.8
250A X 2. 00m
N = 1 2.000 1 2.00
250AX 1. 00m HAE! 250A [CAEYEAD)
N = 4 1. 000 4 4. 00 PaA v MEEL N= 31 u] 31
250AX 0. 50m HAE! 80A [CAEYEAD)
N = 2 0. 500 2 1. 00 PaA v MEEL N= 1 u] 1
250AX 1. 50m Buf777v 80A
SUSTZL¥% = 9 1. 500 9 13. 50 BRI E L N= 1 e 1
250A
SUS 90° /LR = 6 0. 668 6 4.01
250A ¢ 250mm BER)  (BER®)
SUS 45° /LR = 1 0. 400 1 0. 40 RERE G T = 2+ 2 =] 4
2504 X 80A ¢ 250mm
SUS F—X = 1 0. 600 1 0. 60 AR=HNFT | Rk = 2 u] 2
SUS 250A ¢ 250mm (k)
B BT Y) = 2 0. 160 2 0.32 AAN=HNHFET | EiE = 2 =] 2
SUS 80A ¢ 250mm
B BT ) = L 1 75 VHFEL = 4 =] 4
7779 80A ¢ 250mm
ZERIP N = 1 1 O E T = 2 = 2
250A ¢ 250mm X ¢ 250mm FF  EHEEE A
HAEI aA b = 31 31 K 53l T N= 2 T 2
80A ¢ 250mm  §EELE
HAEI a2k = 1 1 A by /R—RRET N= 2 T 2
¢ 250mmA 4% Y H=0. 9m
HEUIAREZRET N= 4 T 4
K ¢ 250mm
kX iy = 2 2
K ¢ 250mm
% = 2 2
Ki¥ ¢ 250mm
Ry PR A i = 2 2
Ki¥ ¢ 250mm
2 A A = 2 2
¢ 250mm
PR% =l = 4 4
¢ 250mm
[an"IE = 2 0. 380 2 0.76
¢ 250mm X ¢ 250mm FPE  EHEEE A
RWr KT N = 2 2
¢ 250mm  #HHLE H
Aby =L N = 2 2
¢ 250mmA 4% U H=0. 9m
o= N = 4 4
m
B R IE R 49. 83
m
it LRER: 50. 59




(GEIEERCE D

[BEF (R TF]

¢ 100mm{ R EL EHE R (BEHH) ¢ 100mn{R SR EEHER (F
Nl A G & HBAUuRE ¥ & | B E Bl A G & 0 H oL % B
IRV —2% (SUSE) | 100A X 4. 00m AT L AHE 100A
B # N = 6 4. 000 6 24. 00 AT L= (EmRiEE) m 48.7
100AX 2. 00m
N = 3 2.000 3 6. 00
100AX 1. 00m GHlI 100A (EE) v @) F2)
N = 4 1. 000 4 4. 00 PaAr MEEL N= 15 + 10 + 6 + 1 u] 35
100AX 0. 50m (UXU) (E)
N = 2 0.500 2 1.00 + 1 X 2 + 1
100AX 1. 00m Gl 80A
SUSTZL ¥4 N = 10 1. 000 10 10. 00 PaAr MEEL N= 1 u] 1
100A Buft777v 80A
SUS 90° /LR N = 6 0. 385 6 2.31 BRI E L N= 1 e 1
100A X 80A
SUS F—X = 1 0.274 1 0.27
SUS 100A PR BT T ¢ 100mm (VsD)
BEFEEUXU) = 1 0.016 1 0. 02 (AH=HARFT) N= 2 X 2 m 4
SUS 100A ¢ 100mm (Fry77)
HEEE (V) = 2 0. 400 2 0. 80 T SHkFT N= 4 m] 4
SUS 100A ¢ 100mm B (BFE%
WERAEE = 1 0. 252 1 0.25 BEeEOWN T N= 2 4+ 3 u] 5
7779 80A
R = 1 1
¢ 100mm
VSVaA b = 2 2
¢ 100mm
Hivy 7 = 4 4
m
B IE R 48. 65
m
it LRER: 48. 65
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[BEF (R TF]

¢ 100mm{REBFREHRER (KREEIT) (BE#ED P 100mm{R R ERER (REFET) (F
Nl ARl GE E R HBAUuRE ¥ & | B E Bl A Bl G E H oL % B
HIVP ¢ 100mm X 4. 00m ¢ 100mm
[EA R N = 1 1 HeEREA T L= (FMmRIER) m 2.2
s
=}
o L= 1.00 1.00 — - 2.00
PR BT T ¢ 100mm (VsD)
(A H =D AEFT) N= 1 X 2 m] 2
¢ 100mm ¢ 100mm (BEE%)
VSVaAf b N = 1 1 BEeEGWN T N= 2 4+ 1 m] 3
BeERm=E ¢ 100mm
)7 b= AR N = 1 0. 200 1 0.20 LRk E T N= 1 e 1
¢ 100mmA 4% Y H=0. 9m ¢ 100mmf 8% Y H=0. 9m
8 E N = 1 1 EUIREZRET N= 1 T 1
wr=5 49" 94%= B OHEDOHE ) 2.2 BRHRT—7L m 2.2
RExT—7
BHRT—7 | L=rx X0.114X 1. 5 X 455/ A X 2.1 HRERAE Y- T m 2.2
HEERAEH S — b 2.2
m
B IE R 2.20
m
il LRER: 2.20




EREIIEERHEE (B M \
(A7 m)
Ft+—1 | tEt—2) | (R+—3) | UR+t—4) | R+—5) | Kt—6) | xEt—7) (£—2)
4 7N ¢ 250mm ¢ 100mm | ¢250 - 100mm| ¢ 250mm ¢ 250mm ¢ 250mm ¢ 100mm ¢ 100mm o
h=0.90m | h =0.90m | h =0.30m | h =0.90m | h =0.90m | h =0.90m | h =0.90m | h =0.90m
2.20 2.10 1. 00 1. 00 1. 00 1. 00 2.20
2.20 5.30 1. 00 1. 00 1. 00 1. 00
& G 4. 40 7.40 2.00 2.00 2.00 2.00 2.20 7t 23. 20




EFEHELXLTIHEE (B M
Ft—1 | tEt—2) | URt—3) | URt—4) | UR+—5) | URt—6) | UREt—7) (£—2)
T i ¢ 250mm ¢ 100mm | 250 « 100mr ¢ 250mm ¢ 250mm ¢ 250mm ¢ 100mm ¢ 100mm & &t HA e o
h=0.90m| h=0.90m| h=0.30m| h=0.90m| h=0.90m| h =0.90m | h =0.90m | h =0.90m
BT R 0.585 0.505 0. 456 1. 152 2.128 0.879 0. 499 0..560 €2 29) (k)
AR e Hl T +THEE 4. 40 1.20 7.40 2.00 2.00 2.00 2.00 2.20
§ 2.574 0. 606 3.374 2.304 4. 256 1. 758 0.998 1.232 17.102| m3 17.1
BN 1. 040 1.673 (A1) (A1)
N 71 Hl T +THEE 4. 40 1.20 7. 40 2.00 2.00 2. 00 2. 00 2.20
§ 2. 080 3. 346 5.426| m3 5.4
ARGy (FR#7) (FR#)
N T R¥LT +TiER 4. 40 1.20 7.40 2. 00 2.00 2.00 2.00 2.20
A m2
BN 1. 040 1.673 0. 149 (%) (%)
HERET (Jyvavib) +TiER 4. 40 1.20 7.40 2. 00 2. 00 2.00 2.00 2.20
§ 2. 080 3. 346 0.328 5. 754| m3 5.7
HA e 0.528 0.495 0. 389 1.152 2.128 0. 879 0. 499 0. 400 € ES) ROCED)
no (GRAL) +THEE 4. 40 1.20 7. 40 2.00 2.00 2.00 2.00 2.20
§ 2.323 0. 594 2.879 2.304 4. 256 1. 758 0.998 0. 880 15.992| m3 15.9
ARGy 0. 057 0.010 0. 067 1. 040 1.673 0. 160 (Fk1) (Fk1)
oty T +TiER 4. 40 1.20 7.40 2. 00 2.00 2.00 2.00 2.20
§ 0. 251 0.012 0. 496 2. 080 3.346 0. 352 6.537| m3 6.5
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(8 & B9 fRt—1) ¢ 250mm H=0.90m (% & B¥) fet—2) ¢ 100mm H=0.90m
Tt THESE (1.om24 ") Tt THESE (1.om2%4 ")
+#Y h= 0.900 m +#Y h= 0.600 m
PEHIE H= 1.170 m CHRHEIDD (HB) #EHIE H= 1.010 m (CHEHEDD (HE)
1.170 e At 1.170 1.010 HetEEl . At 1.010
PR I 0. 500 (B2 : m) PR HE 0. 500 (HAZ : m)
T il it B = H | % & T il it B = AL B
B AR B Hl T 0.500 X 1.170 m3 0. 585 B wk iR Hl T 0.500 X 1.010 m3 0. 505
WET (Jyvavkib) m3 WERET (Jyvavib) m3
VA €12 ) 0.500 X 1.170 — z /4 X 0.270 *| m3 0.528 n At 0.500 X 1.010 — m /4 X 0.110 *| m3 0. 495
ol L 0.585 — 0.528 m3 0. 057 ot sy T 0.505 — 0.495 m3 0.010




(8 & B9 (f+—3) ¢ 250mm * ¢ 100mm H=0.30m & B B
Tt THESE A FdC (1.0om%49) Tt THESE
+#Y h= 0.600 m
#EHIE H= 0.570 m CHRHEID (HB)
0. 570 e At 0. 570
O 0
PR 0. 800 (B2 : m)
T & it G Y HOAr) & T i = L ARA &
B AR B Hl T 0.800 X 0.570 m3 0. 456
HERLT (yvavib) m3
n [Ciii ) 0.800 X 0.570 — x4 X 0.270 °
—x/4 X 0.110 *| m3 0. 389
o4 T 0.456 — 0.389 m3 0. 067




(8 & B9 Rt—4) ¢ 250mm H=0.90m (% & B¥) (fet—5) ¢ 250mm H=0.90m
Tt THESE TRIiA T 4458 (1. Of5FT%4 v ) Tt THESE Z Ny R—=rYL TR (1. Of&FT4 v )
+#Y h= 0.900 m +#Y h= 0.900 m
PEEIZE H= 1.570 m CHRHEIDD (HB) PEHE H= 1.470 m (HEHEDD (HB)
HEAS A il
0. 800 A+ 0. 800 0. 800 At 0. 800
1.570 1. 470
0. 770 NI HI] 0. 100 0. 670 N SHEHI 0. 100
Q ryvavEb | 0.270]  0.770 VEVERZ'), 0.270,  0.670
0. 400 0. 300
1.200 X 1.200 (BT« f4FT) 1.400 X 1.900 (B« FEFT)
T & i B = H | % & T i g B = B ¥ &
bk IR H T 1.200 X 1.200 X 0.800 m3 1.152 K bR A T 1.400 X 1.900 X 0.800 m3 2.128
A 7R E T 1.200 X 1.200 X 0.770 A ) HEE T 1.400 X 1.900 X 0.670
—x /4 X 0.270° X 1.200 m3 1. 040 —x /4 X 0.270° X 1.900 m3 1.673
HERET (Jyvavib) 1.200 X 1.200 X 0.770 HWERT (Jyvavib) 1.400 X 1.900 X 0.670
—x /4 X 0.270° X 1.200 m3 1. 040 —x /4 X 0.270° X 1.900 m3 1.673
VA €12 ) 1.200 X 1.200 X 0.800 m3 1.152 o (AL 1.400 X 1.900 X 0.800 m3 2.128
o+ s T 1.152 + 1.040 — 1.152 m3 1. 040 £ sy T 2.128 + 1.673 — 2.128 m3 1.673
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H=0.90m

(8 & B9 (t—16) ¢ 250mm H=0.90m (% & B¥) E—17) ¢ 100mm
Tt THESE eIk 5B (1.0om24 ") Tt THESE K1k iR (1.om2¥%4Y)
+#Y h= 0.900 m +#Y h= 0.900 m
#EHIE H= 1.170 m CHRHEIDD (HB) PEHIE H= 1.020 m (HEHEDD (HB)
MR A 1.170 Kbkt R 1. 020
P I 0. 800 (BAZ : m) PR HE 0. 500 (HAZ : m)
T il it B = H | % & T il it B = AL OB
B AR B Hl T 0.800 X 1.170 — z /4 X 0.270 *| m3 0. 879 ¥ wk iR Hl T 0.500 X 1.020 — m /4 X 0.120 *| m3 0. 499
WET (Jyvavkb) m3 WERET (Jyvaviab) m3
VAR €2 ) 0.800 X 1.170 — z,/4 X 0.270 *| m3 0. 879 n At 0.500 X 1.020 — m /4 X 0.120 *| m3 0. 499
%+ L4y T m3 W T m3
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(8 & B9 (=—2) ¢ 100mm H=0.90m & & B
Tt THESE (1.om24 ") Tt THESE
+#Y h= 0.900 m
PEHIE H= 1.120 m CHRHEIDD (HED)
A+ 0. 800
1.120 FE AR 1)
0. 100
O rvaviy | 0.120]  0.320
0. 100
PR I 0. 500 (B2 : m)
T il g B X H | % & T i = L ARA &
B AR B Hl T 0.500 X 1.120 m3 0. 560
HERET (Jyvavib) 0.500 X 0.320 — x4 X 0.120 *| m3 0. 149
n [Ciii ) 0.500 X 0.800 m3 0. 400
o4 T 0.560 — 0.400 m3 0. 160
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[BR A& ILF]

(B A&TE]

¢ 250mE o 5 A LEERERER ¢ 250mE o 5 A LS ERER (F
Nl ARl GE E R HBAUuRE ¥ & | B E Bl A Bl G E B ol % =
K 1# ¢ 250mm ¢ 250mm
[i= FEREE = 3 5. 00 3 15. 00 FRERERST T L= (BmRiEE) m 18.0
¢ 250mm
& A N = 5. 00 1 —
¢ 250mm AT =T ¢ 250mm
o L= - = 1. 00 MET | HE = B
& ¢ 250mm ¢ 250mm
9 L= — — 1.00 ek = 7 r 7
KI¥
g 90 N = 1. 095
¢ 250mm
45 N = 0.743 RERE G T N= 2 u] 2
22 1/2 N = 0.673
& 7T ¢ 250mm
11 1/4 N = 1 0.983 1 0.98 HEF T N= 2 m] 2
¢ 250mm
ik X i N = IRERFEIZE |
¢ 250mm
e R T N = 7 7
¢ 250mm (YR E)
A% = 2 2
¢ 250mm
PR% =] N = 2 2
6.0X (1+0.1) /5.0=1.32m/m
I ESI22 A L= 18.00 X 1.32 23.8 HyxFrozy—7T| L= m 18.0
{4X (1+0.25) + (5.0-1.0) } /5.0=1.80#1/m
BEITLNC R = 18.00 X 1.80 32 BHRT—7 L L= m 18.0
ERTRT—F L= 18 18.0 PR S — R T L= m 18.0
HEERATE  — b L= 18 18.0
m
B R IE R 17.98
m
it LRER: 17.98




R ARk %] -
DCIP (K#1%) ¢250mm YIERE HEASE L 5.00 (m) DCIP (Kf#1%) ¢250mm tIERE HEANE L= 5.00 (m)
HUE | 4% M a& ¥ B OE 8 FoE | 2O A % E
1. 00 1. 00 3.00 9
FUE |
1.00| 1.00
FS ) _
% | 3. 00 9
3

DCIP YIsHE




[BR A& ILF]

(B A&TE]

@ 100mmH I V PHER (BE#H) @ 100mmH I V PER (H )
Nl A G & HBAuRE ¥ & | B E Bl A B G E H O % B
RR¥ ¢ 100mm
[i=8 HEREE N = 1 5. 000 1 5. 00 B UERMG T L= (BmRiEE) m 19.4
RRIE
LM N = 3 5. 000 3 —
¢ 100mm
1. 00 RRFT 58 N= u]
4.00
F o L= 4. 00 — - 9. 00
BB 14 B ¢ 100mm
Bt T N= 9 m] 9
1.00
1.00 PR BT T ¢ 100mm (VsD)
ZUE L= 1.00 — — 3. 00 (AN =HVHFL) N= 4 X 2 + m] 10
% | TS
FEHEE N = 4.000 —
RR¥E ¢ 100mm
Hh 90 N = 0. 865 B eEYE T N= 4 u] 4
RRIE
45 N = 4 0.514 4 2.06
RRIE
22 1/2 N = 0. 385
% | RRIE
11 1/4 N = 1 0. 325 1 0.33
VS¥a A vk
$ 100 N = 4 4
FERRL R 1F 4 B
$ 100 N = 9 9
ny=74v) AT (ErEOHEDOHE E) 19.4
RExT—7
ERRT—7 L=n X0.114X 1. 5 X4/ AX 4 K 8.6 BHRT—7 L m 19.4
HEFRAEH S — b 19.4 T U m 19.4
m
EARICR 19. 39
m
it LRER: 19. 39




AFBRIIEZEERHEE (B M

(A7 m)
(+—1) (—2) | (—3)
4 R ¢ 250mm ¢ 100mm | ¢ 250 + 100mm P
h=0.90m | h=0.90m | h =0.90m
2.20 1.70 13. 80
2.10 1. 80
= B 4. 30 3.50 13. 80 Ei 21. 60




ABRLITIHEE (B M
(-1 (—2) | (—3)
T i ¢ 250mm ¢ 100mm | ¢ 250 + 100mm & & (B % ®
h=0.90m| h =0.90m | h =0.90m
BN A 0. 936 0. 560 1,346 (B (B&h)
AR e Hl T +THEE 4.30 3. 50 13.80
g 4.025 1. 960 18. 575 24.560| m3 24.5
HA Ik E (NFD) (NF7)
N 71 8 Hl T +THEE 4.30 3. 50 13.80
B m3
HA Ik E ZR2)) (FR#7)
N 71 R LT +THEE 4.30 3. 50 13.80
B m2
ARGy 0.239 0. 152 0. 357 (15) (15)
HERT (Jyvavib) +THEE 4.30 3.50 13.80
g 1.028 0. 532 4.927 6.487| m3 6.4
BN 0. 640 0. 400 0. 920 (A1) (Fem )
o (R L) +THEE 4.30 3. 50 13.80
g 2. 752 1. 400 12. 696 16. 848| m3 16. 8
ARGy 0. 296 0. 160 0.426 (Fk1) (Fk1)
b2 LS +THEE 4.30 3.50 13.80
g 1.273 0. 560 5. 879 7.712| m3 7.7




HAT T TR &




(+—1) ¢ 250mm h =0.90m (+—2) ¢ 100mm h =0.90m
Tt THESE (l.om¥Yv) Tt THESE (1.om¥Yv)
+#Y h= 1.200 m +#Y h= 0.900 m
PEHIE H= 1.170 m CHRHEIDD (D) HEHNE H= 1.120 m (HEHEDD (HEED)
el
A+ 0. 800 At 0. 800
1.170 P 1) 1.120
FAE A A 0.100
Jyyavip 0.100]  0.370 (T OO ryvavis 0.120]  0.320
0. 270 0. 100
FRHIE 0. 800 (B2 : m) PR HE 0. 500 (BENL : m)

T il i B = Hir | ¥ & T il #t G = HAL D OB
Bk R Hl T 0.800 X 1.170 m3 0.936 B R B El T 0.500 X 1.120 m3 0. 560
HERET (Jyvavib) 0.800 X 0.370 — m,/4 X 0.270 *| m3 0.239 HERT (yvavih) 0.500 X 0.320 — x4 X 0.100 *| m3 0. 152

n [Ciii ) 0.800 X 0.800 l 0. 640 n GeAt) 0.500 X 0.800 I 0. 400
ol il L 0.936 — 0.640 n 0. 296 b2 ol LB 0.560 — 0.400 " 0. 160




T ITHESE

(1.Oom¥%Y)

HAr

#

fEin

(+—3) ¢ 250mm * ¢ 100mm h =0.90m
Tt THESE DCIP - HIVP DI (1.0om%49)
+#Y h= 0.900 m
EEIE H= 1.170 m (HEHEIY (CEiih=9)
MR A 0. 800
1. 170
0. 100
O Opywavwy | 0.1200  0.370
0. 150
FRHIE 1.150 (B2 : m)
T & g G X Hr | % &
B AR B Hl T 1.150 X 1.170 m3 .346
HERET (Jyvavib) 1.150 X 0.370 — m, 4 X 0.120 *| m3
— /4 X 0.270 *| m3 . 357
n [Ciii ) 1.150 X 0.800 I . 920
o4 T 1.346 0. 920 ] . 426
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[EH (e TE] (B ek TE]
@ 250mm{R E B B L E & (BEFHE) ¢ 100mm{R X ELE B E &K BEFTE)

Nl ARl GE E R BN % B Bl A B G E B ol % =

AT L AE 250A AT L AHE 100A
WET L= (BfmRiERE) m 49.8 WET L= (EmRiEE) m 48.7

HALY a4/ MikF 250A GBIy 2/ M kT 100A
Bk LT N= 31 A 31 B4 LT N= 35 m] 35

HAEY a4y Mk 80A GHLY afv Mk 80A
B4 LT N= 1 =) 1 B4 LT N= 1 0 1

BAF7777 80A Buft777v 80A

ERAMET N= 1 P 1 BRI ETL N= 1 H 1

75O ¢ 250mm B B 100A
Bt LT N= 2 =] 2 (AT =TI VARFERSN L) N= 2 u] 2
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FE#RELIIEEHAE (B M )
(A7 m)
REt—1) | (it—2) | (REt—3)
4 ¢ 250mm ¢ 100mm | ¢ 250 + 100mm g =
h=0.90m| h=0.90m | h =0.30m
2.20 0. 60 2.10
2.20 0. 60 5. 30
& 4. 40 1. 20 7.40 # 13.00




FBREmELIIHEE (B M
t—1) | Wrt—2) | Ut—3)
T i ¢ 250mm ¢ 100mm | ¢ 250 + 100mm & & (B % ®
h=0.90m| h =0.90m| h =0.30m
BN A 0.528 0.495 0. 389 (B (B&h)
AR e Hl T +THEE 4. 40 1.20 7.40
§ 2.323 0.594 2.879 5.796| m3 5.7
HAEE (NF7) (NF7)
N 71 Hl T +THEE 4. 40 1.20 7.40
B m3
HA K E (R¥7) (FR#)
AN 71T K¥HLT +THEE 4. 40 1.20 7.40
B m2
HAE (75) (75)
HERT (Jyvavib) +THEE 4. 40 1.20 7.40
B m3
BN 0. 585 0. 505 0. 456 (A1) (Fem )
no (GRAL) +THEE 4. 40 1.20 7.40
§ 2.574 0. 606 3.374 6.554| m3 6.5
HN Ik E Fkt) Fkt)
b2 LS +THEE 4. 40 1.20 7.40
B m3
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B = B (ft—1) ¢ 250mm H=0.90m G = B (Rt—2) ¢ 100mm H=0.90m
Tt THESE (1.om24 ") Tt THESE (1.om2%4 ")

+#Y h= 0.900 m +#Y h= 0.900 m

PEHIE H= 1.170 m CHRHEIDD (HB) #EHIE H= 1.010 m (CHEHEDD (HE)

1.170 e At 1.170 1.010 HetEEl . At 1.010
PR I 0. 500 (B2 : m) PR HE 0. 500 (BENL © m)
T & it Y HOAr) & T i i B X B ¥ &

b IR E T 0.500 X 1.170 — z /4 X 0.270 *| m3 . 528 ¥ wk iR Hl T 0.500 X 1.010 — m /4 X 0.110 *| m3 0. 495
HERET (AL 0.500 X 1.170 m3 . 585 HWRT GiHAt) 0.500 X 1.010 m3 0. 505
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B = B (fxt—3) ¢ 250mm * ¢ 100mm H=0.30m B = B
Tt THESE A FdC (1.0om%49) Tt THESE
+#Y h= 0.300 m
#EHIE H= 0.570 m CHRHEID (HB)
0.570 HebkdEn) T AL 0.570
O 0
PR 0. 800 (BA7 : m)
T & &t B X HAr) & T i = L ARA &
bk IR H T 0.800 X 0.570 — m /4 X _ 0.270 *
— x4 X 0.110 *| m3 0. 389
MERET  GRAL) 0.800 X 0.570 m3 0. 456
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